[image: image1.png]An amplifier has a transfer function, T(f), which was measured at
room temperature. The transfer function has one pole, at 3000[Hz],
and two zeroes, one at 200[Hz] and one at 6000[Hz]. It is known that

T(100,000[Hz]) = 1002.90°. Piot the straight line approximations to
the Bode Plots for this transfer function, using the graph paper on the

previous page. Use a range of frequencies that includes all of the
poles and zeroes.
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[image: image3.png]An ampilifier has a transfer function, T(f), which was measured at
room temperature. The transfer function has one zero, at 2000[Hz],
and two poles, one at 300[Hz] and one at 6000[Hz]. It is known that

T(100,000[Hz]) = 1002.90°. Plot the straight line approximations to
the Bode Plots for this transfer function, using the graph paper on the

previous page. Use a range of frequencies that includes all of the
poles and zeroes.
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